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Unit 01: Comple Numbers

1) V3 s
A) Rational
B) Irrational
C) Integer
D) Prime

2) Product v/—2 x+/—2 is equal to

A) -2
B) 2
C) 0
D) 4

3) 2,2,| =

4) Ifx <y, y <zthen

A) x>z
B) x<z
C) x=z
D) none of these

5) Z,+Z,| is

A =|z[+|2,|

B) >|Z,|+|Z,|

O <|Z)|+|Z,)|

D) =|Z,|x|Z,|
6) (-i)is

A) i

B) -1

Q) 1
D) —i

6) The conjugate of — 6 + 3i



7)

8)

9)

10)

11)

12)

13)

14)

A) —6-3i
B) —6+3i
C) 6+3i
D) 6-3i

The solution set of 5x + 8 =0 when x € N is

A) non empty set

5 -8
5

C —_
) 5

D) empty set

Forallx,y, z € R, if (x y ) z=x (yz) then this property is called

A) Commutative property under multiplication
B) Associative under multiplication

C) Distributive under multiplication

D) Commutative under addition

The additive inverse of a complex number x + yi

A) x—iy

B) x+iy

C) —x-iy

D) {x/x>+y? -y/x*+y%}

The conjugate of a complex number 5i

A) -5
B) 5i
C) -5i
D) 5

The property used in this equation 3 x 7 =7 x 3 is called

A) Closure law

B) Commutative law for addition

C) Commutative property w.r.t multiplication
D) Identity

The additive inverse of (-x, -y) is

A) (X, -y)
B) ()
C) (x,0)
D) ,-y)

The property used in the equation 8 + 0 = 8 is called
A) Commutative

B) Associative

C) Additive Identity

D) Additive Inverse

Foralla,b,c € R, if (a+b)+c=a+ (b+c) then the property is called

A) Commutative under addition
B) Associative w.r.t addition



15)

16)

17)

18)

19)

20)

21)

C) Distributive under addition
D) None of these

The inverse of an element ‘a’ under addition is

1
A) —

a
B) -a
O 1
D) 0

The additive identity is

A) 0
B) -1
C 1
D) none of these

The product of two conjugate complex numbers is always a

A) Real number

B) Complex number
C) Irrational number
D) Natural number

The sum of two conjugate complex numbers is always a

A) Real number

B) Irrational number
C) Complex number
D) Natural number

1+ 2i
2—1i

A) 1
B) 5
C) %
D) 573

If Z1, Z> be complex numbers then Z, +Z, =
A Z, -7,

B) Z,+Z,

Q) Z,+7,

D) Z -7,

Ifz=(a,b),thenz ' =

A) (a,-b)
B) (-a,b)

0 ( a —-b
a’*+b* a* +b’




22)

23)

24)

25)

26)

27)

28)

29)

D) —a b J
a’+b* a’+ b’

Ifz=a+ bi, then |z| =

A) a?-b?
B) a’+b?

) Va*-b’
D) vJa'+b*

If z1 and z2 are any two complex numbers then

|Zl| _|ZZ|

A) <|Z1 +Zz|
B) S|Z1 +Zz|
O >|zl +zz|

D) Z|zl +zz|

(i)s=

A) 1
B) -1
Q) i
D) —i

If z; = (a, b) and z, = (c, d) then z1z, =

A) (ac—bd, ad + bc)
B) (ac +bd, cd—Dbc)
C) (ad +bc, ac —bd)
D) (ad —bd, ac+ bd)

2x? +3y? =

A) (2x +3iy) (2x —3iy)

B) (v2x++3i)(N2x—/3iv)

C) (2x-3y) (2x+3y)

D) (V2x+3y)(N2x—~/3yi)

T e

AN
B)Q
0)Q

D) none
Vx € R, x = x is called property.

A) symmetric
B) reflexive
C) transitive
D) none

Every recurring € terminating decimal represents

6



30)

31)

32)

33)

34)

35)

36)

37)

A)Q
B) Q/
OR
D) none

The complex No. (a + ib) can be written as

A) (a, ib)
B) {a, b}
C) (a,b)
D) [a, b]

The imaginary part of the complex Nos. (b, a) is

A)ia
B)b
C)a
D) none

If Z=1 then 7=

A)i
B)-i
C)+1
D) none

If Z=-Zthen Z is
A) real

B) imaginary

C) neither type

If Z=—1-i then Z=

A) (-1,-1)
B) (-1, 1)
o) (1, -1
D) none

i]=

A)-1
B) 1
C) 0
D) i

1+2i
1S

The magnitude of

—1
A)5+2i
B)- 1

01
D) none

If x = 0, then multiplicative inverse of x is
1
A) —

X
B)-x



o1
D)0
E) none

3 .
-+ is

38) The real & imaginary part of -
2+i 2-i

39) The value of i" = where n is an odd No.

D) None

40) If the area f triangle is 16, formed by the points Z, Z+iZ and iZ in a complex plane, then | Z | =
A) 16

B) 54/3
C) 42

D) none

41) if x +1iy = 5 — 61 %, then imaginary part (y) =
A)-6

B) 6

C)0

D) None

42) A real number is always

A) A natural no

B) Positive integer
C) Rational number
D) Complex number

43) The property used in the equation 7.8 + (- 7.8) =0 is
A) Commutative
B) Associative
C) Additive Identity
D) Additive inverse



Unit 02: Functions and Graphs

1) Ifx e L UM, then

A) x¢ Lorx ¢M
B) x¢Lorx eM
C) xeLorx¢gM
D) xeLorxe M

2) Let A={a,b,c,d} B={b,c,d} then ANB=

A) {b,c,d}
B) {a,b,c}
C) {a,b,c,d}
D) {a,c,d}

3) Ifx € B'=U-B then

A) xeBandx e U
B) xgBandx e U
C) xgBandx ¢ U
D) xeBandx ¢ U

4) LetA=(1,2,3,4,5.....}, B={2,4,6,8 ...}
The AUB is

5) L UM =L~M then L is equal to

A) M
B) L
C ¢
D) M

6) Which of the following sets has only one subset.
A) {Y,Z}
B) {Y}
O {0}
D) { 3

7 A c B then
A) ANnB=A
B) ANnB =A
O] A-B=A
D) A-B=B

8) If x € L — M then
A) xeLandx e M
B) xeLandx ¢ M
C) xgLandxe M
D) xgLandx ¢ M
9) Total number of subsets that can be formed from the set {x, y, z} is

9



10)

11)

12)

13)

14)

15)

16)

17)

If x €e L " M then

A) xelLandx e M
B) xeLandx ¢ M
C) xgLandx e M
D) x¢gLandx ¢ M

Let A and B be any none empty sets then
AU(ANB) is

A) BNnA
B) A
C) B
D) AUB

Let A, B, Cbe any sets. Let A UB=A u C and
A N B=A nC, then B set is equal to

A) AUB
B) AnB
C) A
D) C

If S contains n elements then power set of S, P (s) contains elements. Which are?

A) 2
B) 4
C) 5
D) 6"

A set is a collection of objects which are

A) well defined

B) well defined and distinct
C) identical

D) not defined

The power set of a set S containing six numbers is the set whose elements are

A) three subsets of S

B) two subsets of S

C) five subsets of S

D) all possible subsets of S

A is a subset of B if

A) Every element of A € B
B) Some element of A € B
C) Everyelementof A ¢ B
D) Every elementof B € A

The complement of set A relative to universal set U is the set
A) {x/xeUandx €A}
B) {x/x¢Uand xgA}
C) {x/xg¢Uandx €A}

10



D) {x/xeUandx ¢ A}

18) If A\B = A then
A) AnB=A
B) AnB=A’
C) AnB=B
D) AnB=4¢

19) If B— A =B then
A) AnB=4¢
B) AnB=A
C) AnB=#¢
D) AnB=B

20) The union of the sets A and B is defined as
A) AuUB={x/xeA orxeB}
B) AuUB-={x/x¢A or xeB}
C) AUB={x/x¢A orx¢B}
D) AuB={x/xeA orx¢B}

21) If Q, R are any sets then Q —R =

A) Q-(QMR)
B) QN (Q-R)
0) Q+(QNR)
D) Q-(QUR)
22) If A and B are any two sets and A’ B’ are Their compliments relative to the universal set U, the (AUB)' =
A) A'UB’
B) AUB
C) A'nB’
D) AmB
Answer: C

23) Difference between two sets A\B is defined as

A) {x’xe AAxe B}
B) {x’xe AAx¢ B}
C) {x/x¢ AAxeB}
D) {x/x ¢ AAx ¢ B}

24) For union Associative Law is

A) (AUB) LUC=AUBUC)
B) (AUB)UC=ANBNC)
C) (AnB) uC=AuBUC)
D) (AUB)UC=A-(B-0)

25) The set of odd numbers between 1 and 9 is

A) {1,3,5,7}
B) {3,5,7,9}
C {1,3,5,7,9}
D) {3,5,7}

26) The set of rational numbers between 5 and 9 is

A) Finite
B) Infinite

11



C) {5,6,7,8,9}
D) {6,7,8}

27) Ifxis a set having 6 elements then the numbers in P(x) is:
A) 62
B) 6
C) 6(2)
D) 2°6

28) If B < A then A’ is subset of
A) A
B) B
C) B
D) AUB

29) Theset AN (AUB)=
A) A
B) B
C) AuUB
D) None of these

30) Theset AU (ANB)=

A) B

B) A

C) AUB

D) None of these

31) If A and B are any two sets and A', B’ are their complements relative to the universal set U, then
(ANnB) =

A) A'UB
B) A'NDB
C) A'UB
D) ANnB

32) If A < U then A’ relative to U is equal to
A) A-B
B) B-A
C) U-A
D) A-U

33) The shaded area in the figure represents the set

A) AnEnC
B) AVEUC
C) AUENC
D) AnEuC

34) The shaded area in the figure represents the set:

A E



A) AUE
B) AnE
C) A-E
D) E-A

35) The shade area in the figure represents the set:

A

A) AUE
B) AnE
C) A-E
D) E-A
36) The shaded area in the figure represents the set:

A

A) AUE
B) AnE
C) A-E
D) E-A

37) Well defined collection of distinct objects is called a
A) a function
B) aset
C) areal number
D) none

38) A diagram which represents a set is called diagram.

A) Venn’s
B) Argand
C) Plane
D) None

39) If a set A is the subset of B & A # B, then A of B.

A) Proper subset
B) Improper subset
C) None D) None

40) Every set is the of itself.

A) proper subset
B) improper subset
C) super set

D) none

41) The set of real Nos. (points) belonging to interval
(a,b)is
A) finite set
B) empty set
C) singleton set
D) infinite set

42) The power set of an empty set is

13



A) null set
B) singleton set
C) super set
D) none
Answer: B
43) X/=

A) A
B) A’
C) --
D) X

44) Two set A & B are called overlapping if ANB =

A) AcB,Bc A
B) AcC B
C)AcB,Bc A
D) None

45) Which one is always true.
A) AcCB
B) AnNBC B
C) Bc 4

D) none

46) Every recurring non terminating decimal represents

A)Q
B) Q/
OR
D) none

47) IfX &Y are two sets & n (X) =18, n (Y) =24, n(XUY)=40 thenn(X1Y)=

A)3
B)4
Q)6
D)2
E)1

48) A real number is always
A) a natural no
B) positive integer

C) Rational number
D) complex number

Groups

1) The set N of natural numbers is closed with respect to

A) Addition
B) Multiplication

C) BothA&B
D) Subtraction
Answer: C
2) The set Z of integers is closed with respect to

14



3)

4)

5)

6)

7)

8)

9)

10)

A) Addition

B) Multiplication

C) Subtraction

D) A, Band C are correct

The set R — {0} of real numbers is closed with respect to

A) Addition

B) Multiplication

C) Division

D) A,B & C are correct

In the set S = {0, 1} the binary operation defined is

A)
B)
0
D)

X + |

ThesetS={-1, 1, -1, 1} is a group with respect to the binary operation

A) =+
B)
0
D) -

+ X

The set S = {1, o, ®*} is a group with respect to the binary operation

A)
B)
)
D) -

&oX

+

If set is a group with respect to addition then the number of identity elements in S is

A) Unique
B) Two
C) Three
D) None

If set S is a group with respect to addition then each element of S has inverse.

A) Unique
B) Two
C) Three
D) None

R — {0} is a group w.r.t the binary operation
A) +
B) x
C) =+
D) -

Q — {0} is a group w.r.t the binary operation

15



+

A)
B)
) =+
D)

X

11) R is a group w.r.t the binary operation.
A) +
B) x
C =
D) -

12) Q is a group w.r.t the binary operation.
A) +
B) x
o =
D) -

13) S= {1, - 1} is a group w.r.t the binary operation.
A) +
B) x
C) -
D) none of these
14) S = {0} is a trivial group under

A) +
B) x
) =+
D) -

15) S = {1} is trivial group under

A) +
B) x
) -
D) division

16) A non empty set S which is closed with a binary operation ‘*’ is called group if

A) The binary operation is associative
B) There exists identity element with respect to the binary operation.
C) There exist a unique inverse of each element of S with respect to the binary operation.
D) AllA, B & C hold.
Answer: D

17)  Inaproposition if p— qthenq — pis called

A) inverse of p—q

B) converse of p— q
C) contrapasitive p— q
D) none

18)  Truth table containing all false values is called
A) Tautology
B) Selfcontridiction
C) Equivallent
D) None

19)  Truth table containing all true values is called
A) Tautology
B) Selfcontridiction
C) Equivallent
D) None

16



20)  Inaproposition if p— q then contrapasitive of this proposition is denoted by

A) q—p
B) ~q-—p
¢ ~q-—~p
D) None

21)  Inaproposition if p— q then inverse of this proposition is denoted by

A) q—p

B) ~q-—p
6 ~p—~q
D) None

22)  Inaproposition if p— q then converse of this proposition is denoted by

A) q-—op
B) ~q—p
¢ ~q-—~p
D) None

17



Unit 03: Theory of Quadratic
Functions

1)

2)

3)

4)

S)

6)

An equation of the form ax> + bx + ¢ = 0 is called

A) Quadratic
B) Cubic

C) Bi-quadratic
D) Linear

In the quadratic equation ax” + bx — ¢ = 0 the sum of roots is

A) —bl/c
B) —b/a
C) —c/a
D) alc

In the quadratic equation ax® — bx + ¢ = 0 the product of roots is

A) c/a
B) b/a
C) alc
D) —c/a

The sum of cube roots of unity is

A) 3
B) 2
C) 1
D) 0

The roots of a quadratic equation ax>+ bx + ¢ = 0 are

—b++b* +4ac

2a

+b+b* —4ac

2a

—b+~b* —4ac

2

—b+~b* +4ac

2a

A)

B)

0)

D)

The product of cube root of unity is
18



7)

A) 3
B) 2
Q) 1
D) 0

The number of real roots in cube roots of unity are

8) The roots of quadratic equation ax?> — bx — ¢ = 0 are real if

A) b>+4ac<0

B) b>—4ac<0
C) b>+4ac>0
D) b*—4ac=0

9) The roots of quadratic equation ax? + bx — ¢ = 0 are equal if

10)

11)

12)

13)

A) b*—4ac<0
B) b>+4ac>0
C) b>+4ac=0
D) b*—4ac=0

The roots of quadratic equation ax> — bx — ¢ = 0 are imaginary if

A) b*+4ac<0

B) b’ —4ac>0
C) b>+4ac=0
D) b?—4ac=0

If 4 & - 5 are the roots, then quadratic equation will be

A) x2—x-20=0
B) x> -x+20=0
C) x>+x-20=0
D) x*+x+20=0

The value of ®'? is
Al

B) o

C) o

D) 0

The square of a number when added to the number results in 6 then the number is

A) 2
B) -2
C) -3

19



14)

15)

16)

17)

18)

19)

20)

D) Both A & C

The sum of roots of 3x> —4x +7=0is
A) 4/3

B) 7/3

C) -7/3

D) 4/3

The product of roots of 3x%>+ 5x —2 =0 is

A) 573
B) 3/5
C) -2/5
D) -2/3

If31"*+53x_-8=0, then x =

V2x+1-+/x 1 -
If ———==—,thenx=
V2x+1++4/x 5

A) 1
B) 2
C) 3
D) 4

If one root of quadratic equation is 4 + 5i, then equation

A) x> -8x+41=0
B) x> +8x+41=0
C) x> —41x+8=0
D) x>~ 41x-8 =0

20



21)  In the quadratic equation x> — 9 = 0, the sum of the root is

A) 9

B) -9
C) 1/9
D) 0

22)  Inthe quadratic equation 3x* — 5x = 0, the product of root is

A) 5/3
B) -5/3
C) 0

D) 3/5

23)  The roots of quadratic equation x> — 4x = 0 are

A) Imaginary

B) Rational & Different
C) Irrational

D) Rational & Equal

24)  Ifo, o? are complex cube roots of unity
Then o + ©* =

A) 1
B) -1
00
D) none of these

25)  Ifw, ®? are complex cube roots of unity then w? =

A) o

B) -o

C) -lw

D) none of these

(5] {255 -

2 2

A) 0
B) 1
C) -1
D) 4

27)  If o and ®? are cube roots of unity then
(1-0-w?)’=

A) 0
B) 1
21



C) 32
D) None of these

28)  Ifthe area of a rectangle is 56 & the length is one more than the breadth then the dimensions are

A) -8,-7
B) 8,7

C) 14,4
D) 28,2

29)  The sides of a right angle triangle are 2x + 1, 2x,
2x —1,then x is

A) -1
B) %
C) -2
D) 2

30)  Ifone root of 4x*> + 7hx —h?> + 9 = 0 is zero then h =
A) 0
B) 3

C) -3
D) +3

22



Unit 04: Matrices and
Determinants

1) The order of the matrix [4 7 3]is
A) 3x1
B) 1x3
C) 3x3
D) 1x1

I 3 5
2) The value of determinant of the matrix | 7 9 11| is

13 15 17

A) 0
B) 1
Q) 2
D) 3

3) isa matrix.

A) singular
B) unit

C) diagonal
D) scalar

6 A
4) If 3 9 is singular matrix then A =

A) 4
B) -4
Q) 12
D) 18

5) A, B, C are three matrices such that AB = C Then B =
A) C'A
B) CA
C) A-I'C
D) AC
E)
a 0 b

6) Value of the determinant of matrix |¢ 0 —d | is

e 0 f
A) 1
B) 2
C) 0
D) 3
E)
a b+c 1
7) Value of determinant of the matrix |6 c+a 1| is
c a+b 1
A) ¢
23



8) If B is square matrix and B*= - B, then B is called
A) Symmetric
B) Skew symmetric
C) Singular
D) Non-singular

9) For any two non singular square matrices A and B,
(AB) ' =

A) AB

B) B !A-!

C) A-'B!

D) A-'B

1 2 6
10) IfA= and B = then we can find
3 -4 5
A) A+B
B) A-B

C) AB
D) BA

11) If A is non singular square matrix then A ~! =

12) If A is matrix of order m x n then kA is of order
(k is real number)
A) kmxn
B) mxkn
C) km xkn
D) mxn

1 cos’a
13) The value of determinant of the matrix | 1 cos’ p

1 cos’ y

A) 1
B) 0
C) 2
D) -1

sin® o
) .
sin” f | is

sin® y

cos2a cos’a

14) The value of determinant of the matrix | cos2 cos’

cos2y cos’ y

24

sin’ &
sin® | is

sin® y



A 1
B) 2
C) 0
D) -1

15) The value of determinant of the matrix
a*-b*> b’—-c* a’-c°
b*—c* *—a® b —-a’lis

2 2 2 2 2 2
¢ —a a -b ¢ —b

A) 0
B) 1
C) 2
D) 3
3 5 4
16) IfB=|4 4 6 | then—Bis
1 2 3
-3 -5 -4
A) -4 -4 -6
-1 -2 -3
(-3 5 4]
B) -4 4 6
-1 2 3]
(3 -5 4]
C) 4 -4 6
1 -2 3
3 5 -4
D) 4 4 -6
12 -3
3 2 1
17) IfA=|6 5 4]then2Als
7 6 4
6 4 2
A) 6 5 4
7 6 4
3 2 1
B) 12 10 8
7 6 4
3 2 1
C) 6 5 4
14 12 8
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D)

6 4 2
12 10 8
14 12 8
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Unit 05: Partial Fractions

e__9

An open formed by using the sign of equality is called
a) Equation

b) In - equation

c) True sentence

d) False sentence

2. 2x =3 is a conditional equation it is true for

a) 2
b) 3
c)%

2
d) 3

3. x>+ x — 6 =0 is a conditional equation and it is true for

a) 2,3
b) 2,-3
) —2,-3
d —2,3

4. The symbol shall be used both for equation and identity
a)

)
)
)

o
1R

(¢]
7. N

d

P(x)
O(x)

, Q(x) # 0 1s known as

a) improper rational fraction
b) rational fraction

c) proper rational fraction
d) none of the above

2
is a fraction.

3-1
X

a) rational fraction
b) improper fraction
c¢) rational fraction
d) none of these
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10.

11.

2
is a fraction

3x+1
a) rational fraction
b) proper fraction
¢) improper rational fraction
d) none of these

There are types of rational fraction .
a) three
b) four
c) five
d) two

The partial fraction of is

2

x° =1
2) 1
2(x—1) 2(x+1)
b) !
2(x—1)
1
C
2(x+1)
d) 1 N 1
2(x—1) 2(x+1)
2 f—
The partial fraction of 2x—3x3+4 is
(x—1)
2
) x-1
1
b) —
) (x=1)°
2 1 3
C) + 2 + 3
x-1 (x-1)" (x-1)
d) & 3
(x=1)
9x -7

The partial fraction of ———— is
(x*+1)(x+3)

17x-6
S(x2 +1)
17x-6 B 17
5(x2 +1) 5(x+3)
17
c
5(x+3)
d) none of these

a)

b)
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12. The partial fraction of —

2) x-1
xt+x+1
2x+3
(x> +x+1)°
2x+3 x—1
c 2 2 2
(x"+x+1)" x"+x+1
x—1 2x+3
2 + 2 2
x“+x+1 (x"+x+1)

X 4+2x+2 .
5 18
(x"+x+1)
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Unit 06: Sequences and Series

1) The general term of the sequence 2/1, 3/2, 4/3, ... is an

n+1

A)
n
n

B)

n+1
n

C)

n—1
n-1

D)n

2) Ifa, at+d, at+2d, ...... is A.P, then an =

A) a+nd
B) a—nd
C)a+(m-1)d
D) a+(n+1)d

n+l n+l

a
a"+b"
A) -1
B) 1
C) 0
D) 2

3) is arithmetic mean between a and b if n =

4) IfA,. G, H are A M, G.M, and H.M between two numbers, then

A) A<G<H
B) A<G>H
C) A>G>H
D) A>G<H

5) The harmonic mean between two numbers a and b is
A) £+ab
a+b

2
2ab

a+b
2ab

a-b

B)

C)

D)

6) The arithmetic mean between 4 and 6 is

A) V24
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7)

8)

9

10)

11)

B) —/24
C) 24/5
D) 5

If a is the first term and r < 1 is common ratio of G.P, then Sn =

A) a(l—r")
-7

B) a(l+r")
I+r

C) ar"

D) a(l-r")
I+7

An infinite geometric series is convergent if

A) <1
B) r>1
O r=1
D) Both B and C are correct

If a is the first term and r is the common ration of G.P then an =

A) ar™!

B) arn+l

Q) a(l-r")
l-r

D) a(l+7r")
I+r

n+l n+l

+b" . )

a To 1s H.M between a and b if
a"+b"

A)n=0
B) n=1
C) n=-1
D) n=2

If a 1s the first term and r is common ratio such that
r<1, then S« =

a
A) ——
)l—r

a
B) ——
) 1+7r
a(l-r")

1-r

0)
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D) a(l+7r")
I+r

12)  The harmonic mean between 9 and 11 is

A) 10
B) +/99
C) -/99
D) 99/5

13) If A, G, H are arithmetic mean, geometric and harmonic mean between a and b, then

A) G*=AH
B) A?=GH
C) H*=AG

D) None of these
14) -1,1,-1,1,....1s

A) Arithmetic Sequence
B) Geometric Sequence
C) Alternating Sequence
D) Harmonic Sequence

15)  The geometric mean between 8/9, 9/8 is

A) +1
B) -1
C) +1

8
D) —
) 17

16) A sequence is a function whose domain is

A) the set of rational numbers
B) The set of irrational numbers
C) The set of integers

D) The set of natural numbers

17)  The geometric mean between a and b is

A) a+b
2

B) ++Jab
Q) 2ab
a+b

a+b

2ab

D)

18)  The arithmetic mean between a and b is
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2ab

a+b

a+b
2ab

Q) a+b
2

D) ++ab

A)

B)

19)  Which of the following series is convergent.

A)2-6+18-......
B) 8+4+2+.......
C) 5+10+20+.......
D) 32+3+6+.......

20) If a=3, r=2/3, then sum of infinite S« =

| w O oo O

21) If2+1+%+.....1s infinite geometric series then S

A) 2
B) 4
Q) %
D) Y

22)  The population of a town increases geometrically at the rate of 4% per year. If the present
population is 100,000, then population after 4 years will be

A) 100,000 (1 +.04)°
B) 100,000 (1 + .04)*
C) 100,000 (1 —0.04)3
D) 100,000 (1 —0.04)*

23)  The sum of n terms of arithmetic series S, =

A) n/2[2a+ (n— 1)d]
B) ar""!
a(l—r")
-7
D) a+(n-1)d

0)
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24)

25)

26)

27)

28)

The two arithmetic means between 5 and 35 are

A) 15,25
B) 10,20
Q) 10, 15
D) 10,25

If2b—1,4b + 1, 15b — 3 is a geometric series,
then b =

A) 4
B) 3
Q) 2
D) 1

Which of the following is a geometric series?

A) 5,7,9,11,

B) 3,5,7,9.......

C) 1,1/3,3,9, ..

D) 9,3,1,1/3, ......

The general term of the sequence 3, 6,9, 12 ..... s
A) n

B) 2n

C) 3n

D) n?

Which of the following is harmonic sequence?

A) 3,57 ......
B) %, Y, 18, ...
C) %, 1/3, Y ......
D) 3,9,27 ....
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Unit 07: Permutations and
Combinations

1) If n is a positive integer then n! =

Ayn(n+1)(n+2)...... (n+n)
By nnh-1)(n-2)....3.2.1
Q) n(n+1)
2
n(n—1)
D) —

2) If "P, =20 thenn=

A) 4
B) 5
Q) 6
D) 10

3) n C,, —
n!
(n—r)!
n!
(n—r)!r!

A)

B)

|
o) =

r!

4) n I)’ —

(n—r)!
D)

(n—r)ir!

5) ! 4 =
A) n!
B) n
O 1
D) 0
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6)

7)

8)

9

10)

11)

12)

0p _
=
A) 90
B) 10
C) 8
D) 80

If "C,="C,, thenn =
A) 4
B) 6
C) 10
D) 16

The number of words which can be formed out of the word “ASSASSINATION”, when all the
letters are used in each word are

13
A)
43,2,2,11

B) 13!

41
C _
) 1

13

D)

The numbers of diagonals in ten sided figure is
A) 10

B) '°C,

C) '°'c,-10

D) 45

The number of ways a hockey eleven can be selected out of 15 players if it includes a particular
player.

A) ]SCI 1

B) MCI 1

9 14Clo

D) G,

SPO —
A) S
B) 0
Q) 15
D) 1

The number of possible permutations of the letters of the word, “ADDING” having two D’S
together.

A) 5!
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B) 3!
C) 4!
D) 25

Answer: A

13)

14)

15)

16)

17)

18)

19)

For any event A

A) 0<P(A)<1
B) -1 <PA)<1
C) —2<P(A)<2
D) 0<P(A)<2

The number of words that can be formed from the letters of the word, “PAKPATTAN” are

A) 9!
B) °C,
C) °P

!
D) 9
31212

The number of words that can be formed from the letters of the word, “COMMITTEE” are

A)°P,
B) °C,
|
0) 9!
212121
D) 9

The events A & B are said to be disjoint if A N B is

A) ¢
B) A
C) B
D) AuUB

A dice is thrown then the probability to get an even number is

A) 4/5
B) 3/5
C) 2/3
D) %

A slip is picked out of 8 slips numbered from 1 to 8 then the probability to get number 4 is

A) 8

B) 1/8
C) Y%
D) 3/8

The three digit numbers that can be formed from 0, 1, 2, 3, 4, when no digit is repeated are
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A) 48
B) 36
C) 24
D) 10

20)  The number of distinct permutations from the letters of the word, “ARTICLE” using all the
letters are

A) 7
B) 7!
C) 49
D) 59

21)  Teams A & B are playing football match. The probability that A will win is 4/13 that of B is
5/13. The probability that the match will end in a draw is

A) 5/13
B) 4/13
C) 9/13
D) 3/13

22) A & B are mutually exclusive events the P(A UB) =

A) P(A) U P(B)

B) P(A) + P(B)

C) P(A) + P(B) — P(A nB)
D) P(A) - P(B)

23) IfAcSthenP(A) =
A) 1+P(A)
B) 1-P(A)
C)
P(4)
D) P(A)

24)  The probability that Aslam was not born in a month which begins with the letter “J” is % , then
the probability that he was born in January, June, July is

A) 5/4
B) %
C) Y
D) 7/4

25) A bag contains 30 balls, some of which are red and the remaining are blue. The probability of
drawing red is 1/6, then the number of blue balls are

A) 25
B) 20
C) 48
D) 16
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26)  The number of diagonals in 8 — sided figure is
A) 64
B) 20
C) 48
D) 16
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Unit 08: Mathematical
Induction and Binomial
Theorem

n(n+1)2n+1)
6

9

2

n
D) =
)2

2) The number of terms in the expansion
of (2x +y)° are

A) 6
B) 7
C) 8
D) 14

3) 12+22+3%+....n°=

n(n+1)

2
n(n+1)2n+1)
6
n*(n+1)°
—

2
n

D) °-

A)

B)

®)

4) 1P+2*+3*+....n°=
2
n
A) >
n(n+1)2n+1)
6
n(n+1)
2

B)

0)
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5)

10

11

n*(n+1)°

D) “

If x is so small that its square and higher powers be neglected then (1 + 3x)?2=

A) 1+9x

B) 1-9x

C) 1+6x

D) 1-6x

For every positive integer n
I1+5+9+........ + (4n —3) is equal to
A) n(2n—1)

B) (2n-1)

D) n—1

D) n

When we expand (a + 2b)? then
A) a’+ 10a*b + 40a°b? + 80a’b’
+ 80ab”* + 32b°
B) a’+a'%h +a’b?+a’b’ +ab*+b°
C) 5a°+4a'b + 3a’b? +2a%b’
+ lab* + b’
D) None of above

The term involving x* in the expansion of (3 — 2x)’ is

A) 120

B) 1512

C) 1250

D) 15120

if1+l+£+ 1.3.5 + o +R is
4 48 48.12

A) W2

B) 3

c) 5

D) 7

For each natural number n.
1+3+5+..+Cn-1)=.............

A) n?
B) n

O n’
D)

(a+x)"= Z [n] a" " where a
r

r=0
and x are:
A) imaginary
B) Rational
O Irrational
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12

13

14

15

16

17

18

D) Real numbers

Number of terms in the expansion of
(a+x)"is

A) n—1
B) n+1
0] n+2
D) n+3

The expansion of (1 - gx) is valid

when:
A) x < 8
5
5
B < =
) X 3
8
C < =
) NI
8
D > —
I

"Cy=exists whennis ........

A) n>2
B) n<?2
O) n<2
D) n>2

1% four terms of the expansion
(1-x)?are

A) 1 +2x + 3x% + 4x°

B) 3x2+2x+1

O) 1 +3x +4x% + 5x°

D) None of these

The expansion (1 + x) > holds when
A x>1

B) x| <1

) K=>1

D) x <1

The middle term of the expansion
(1+2x)%4s ..oovennn.

A) 1° term

B) 4™ term

C)  2"term

D) 3" term

If n is add the expansion (a +x)" has .............

A 2

middle terms.



19

The general term of expansion
(at+x)"is:
A) an —Tr

5 (]
o [

D) None of above

S Y 3
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Unit 09: Division of Polynomials

44



Unit 10: Trigonometric
Identities

1. Distance r of the point P(x1, y1) from the origin is given by the relation r = ?

a) x; +y;

b) \xi + !
C) \/x12+y12+2x1y1

d) x

) none of these

2. If Sin@1=Sin@; and Cos @1 = Cos &> then

a) sin%(6?1+6’2)=0
b) sin%(91—92)=0
C) cos%(@1 +6,)=0

d) cos%(@2 -0,)=-1

) none of these
3. Distance r of the point P(1, 2) from the origin O(0, 0) is given by the relationr=___ ?

a) 5

b) 5
c) 25
d) V3

e) None of these
4. cos(ax—p) =

a) cosacos f—sin asin
b) cosacos f+sin asin
¢) sin @cos S —cosasin
d) sin @cos f+cosasin
e) sin asin S —cosacos [

5. cos(a+ pf) =
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10.

a) cosacosff—sinasin
b) cosacos f+sin asin
¢) sin ¢cos S —cosasin [
d) sin ¢cos f+cosasin S
e) sin asin S —cosacos [

sin(a - f3) =

a) cosacosff—sinasin
b) cosacos f+sin asin
¢) sin ¢cos S —cosasin [
d) sin ¢cos f+cosasin S
e) sin asin S —cosa cos [

sin(a + ) =

a) cosacos ff—sinasin
b) cosacos f+sin asin
¢) sin ¢cos S —cosasin [
d) sin ¢cos S+ cosasin S
e) sin asin S —cosa cos [

cos(—a) =

a) seca
b) —sina
c) sina
d) —cosa
e) cosa

sin(—) =

a) secqo
b) —sina
c) sina
d) —cosa
e) cosa

cot(—ax) =

a) -tana
b) tanax
c) cotx
d) —cotax
e) cosa
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1.

12.

13.

14.

15.

16.

17.

tan(—a) =

a) -tanga
b) tang
c) cotx
d) —cotax
e) cosa

sec(—a) =

a) —cosa
b) -seca
c) seca

d) coseca
€) -cosecq

cos(90° — ) =

a) —cosa
b) cosa

c) —sing
d) sina

e) —coseco

sin(90° — ) =

a) tanq

b) cosa

c) —sing
d) sina

€) —coseco

tan(90° — ) =
a) tang

b) -tano

c) —sing

d) —cota

e) cotx

cot(90° —a) =

a) tang
b) —tanex
c) —sing
d) -cotx
e) cotx

sec(90° —a) =

a) —coseca
b) coseca
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18.

19.

20.

21.

22.

23.

c) -seca
d) seca
e) cotx

cos(a —90%) =

a) —coseco
b) cosec o
c) —seca
d) sinax

e) cotx

cosec(90° — ) =

a) —coseco
b) coseca
Cc) —sec «
d) seca

e) cotx

sec(ax—90°) =

a) coseca
b) -seca
c) -cota
d) cotx
e) cosa

sin(ax —90°) =

a) —cosa
b) coseca
c) —seca
d) sina
e) cosa

tan(a —90°) =

a) tanq
b) —tane
c) —cota
d) cotex
e) cosa

cosec(a—90°) =

a) coseca
b) —seca
c) —cota
d) cotex
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24.

25.

26.

27.

28.

29.

e) cosa

v
COS§| —— o | =
(2 j

a) cosec o
b) cos o
c)—cosa
d)—sinax
e) sin

a) coseca
b) cosa
C) -cosa
d) —sina
e) sina

a) cotx
b) tana
c) —cosa
d) —sinx
e) sina

r
cos| @ —=|=
( 2]

a) seca
b) —cosa
c) cosa
d) —sinx
e) sina

sm(a_gjz

a) seca
b) —cosa



30.

31.

32.

33.

34.

35.

c) cosa
d) —sinx
e) sina

mn(a_gjz

a) seca
b) cotx
c) —cota
d) tana
e) —tana

V3
seCcla —— | =
[ 2j

a) seca
b) cota
C) coseca
d) tang
e) —tana

)
cosecla——|=
2

a) seca
b) —seca
C) coseca
d) tanax
e) —tana

cos(ax +90°) =

a) —sing
b) sinax
c) cosa
d) —cosa
e) —tana

sin(ax +90°) =
a) —sing
b) sinx

c) cosa

d) —cosa
e) —tana

cot(ax +90°) =

a) —sing
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36.

37.

38.

39.

40.

41.

b) —cotx
c) cotx
d) tana
e) —tana

csc(ax+90°) =

a) —sing
b) —csca
Cc) —seca
d) csca
e) seca

T
cos| —+a |=
(2 j

a) —sing
b) —csca
Cc) —seca
d) csca
e) seca

. (
sin| —+a | =
5]

a) —sing
b) —csca
c) —seca
d) cosa
e) seca

tan(a +90°) =

a) —sing
b) —cotex
c) cotx
d) tana
e) —tana

sec(a@+90°) =

a) —sing
b) seco
Cc) —seca
d) csca
e) —csca

r
sec| a+— | =
[ 2)

a) seca
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42.

43.

44,

45.

46.

47.

48.

b) —csca
c) cotx

d) —cotx
e) —seca

sin(r+a) =
a) cosa

b) —cosa
c) —sing
d) sina

e) cotx

csc(r—a) =
a) seca

b) —seca
C) —csca
d) csca

e) —tana

cot(r—a)=
a) sina

b) cotax

c) —cota
d) tang

e) —tana

r
cscla+= |=
[ 2)

a) seca
b) —csca
c) cotx
d) —cota
e) —seca

sin(7r—a) =
a) —cosa
b) cosa

c) —sing

d) sina

e) —seca

sec(r—a) =
a) seca

b) —seca
C) —csca
d) csca

e) —tana

cos(m+a) =
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49.

50.

51.

52.

53.

a) cosa
b) —cosa
c) -sinax
d) sina
e) cotx

tan(7 —) =

a) sing
b) cotx
c) —cotax
d) tang
e) —tana

cos(r—a) =

a) —cosa
b) cosa
c) —sing
d) sina
e) —seca

r
cscla+= |=
[ 2)

a) seca
b) —csca
c) cotx
d) —cot
e) —seca

2sin o l-cosa+sina .
If y= - then - is equal to
1+ cosa +sin 1+sm o

a) lly
b) Y

c) l-y
d 1+y
e) None of these

In the triangle ABC, where C is the right angle, tan A + tan B =

a) a+tb
2 2
b) a +b
ab
¢) a’/bc
d) b*/ac
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54.

55.

56.

57.

58.

e) None of these
Sin(2r —0) =

a) Sing
b) —Sind
c) Cosd
d) —Cosd
e) Tang

The value of the expression

a) 0

b) 1

c) Siny

d) Cosy

e) None of these

CosQr—0)=

a) sin @
b) —siné
c) cosé@
d) —cosé
¢) tand

cot(ax— ) =

. cota—cot B
l1+cotacot S

b cota +cot B
I—cotacot S

5 cotacot f—1
cota +cot

d cotacot f+1
—cota +cot

e) none of these

tan(a— ) =

N tan o —tan
l+tana tan §
b tan o + tan
I—-tan o tan
cota +cot
l1—cotacot S
d cota—cot
I+cotacot 5

?

1—sin2y+1—cosy_ sin y

I+cosy

sin y
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59.

60.

61.

62.

63.

e) none of these
tan(z+ ) =

a) tanq
b) —tano
c) cotx
d) —cotx
e) seca

sec(m+a) =

a) tang
b) —csca
c) csca
d) —seca
e) seca

csc(r+a)=

a) tan
b) —csc o
c)csca
d)—seca
e) seca

tan(a + f) =
tan o —tan S
I+tan o tan B

b tan @ +tan B

l-tana tan S
cota +cot
I—cotacot B
cota —cot 5
I+cotacot
e) none of these

cot(ax+ f) =

cota—cot
I+cotacot
cota +cot
I—-cotacot B
. cotacot f—1
cota +cot
cotacot f+1
cota +cot

e) none of these

d)
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64.

65.

66.

67.

68.

2 cos? (gj =
2

a) l+cosa

b) 1-cosa
c) 1+sing
d) 1-sinx

e) 1-2sin’«
Sina =

a) 1-2sin® <
2

b) 2cos> < +1
2

.a «a

) sin—cos —

2 2

d) 2sin L cos &
2 2
e) 1-2sin’

Cosa =

a . ,a
a) cos’ —+sin’ —
2 2

b) cos’ 2 _sinn%
2 2

¢) cos’ a—sin’ a
d) cos’ a +sin’ «
e) 2sina

Cosa=

a) 1-2sin> <
2

b) 2cosz%+1

c) 2cos’ a—1
d) 2cos’ a+1
e) 1-2sin’ &

2sin? (gj =
2

a) l1+cosax
b) 1-cosx
¢) l+sina
d) 1-sinx
e) 1-2sin’
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69.

70.

71.

72.

73.

74.

75.

Tan(2r—0) =
a) Cot6

b) —Cot6

c) TanB

d) —Tan6

e) —Cot6

CosQr+6)=

a) Sing
b) —Sind
c) Cosd
d) —Cosd
e) Cotd

Tan(2r+60) =

a) Cotd

b) —Siné

¢) Tan@

d) —Tand@

¢e) —Tan @
Sin(2r+60)=

a) Sind

b) — Sing

c) Cosd
d)—Cos @
e) — Cosec @

1+ Cos2c =

a) 2sinax
b) 2cosa
c) 2seca
d) 2sin’a
e) 2cos’

Cos2x =

a) 1+cosa
b) lsinfa + 1
¢) 2cos’q -1
d) 2cos’ +1
e) Cos’ex -1

Sin2 o=

?

?

?
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76.

77.

78.

79.

80.

a) Cos’a - Sin*a

b) 2Sin’e + 1
¢) 2Sina Cosa
d) Sing Cosa
e) 2Cos’ -1

Cos2a =

a) cos’a +sin‘a
b) 2sin‘a+1
¢) 2sin‘e -1
d) 2cos’a +1
e) 2cos’q -1

Sing =

a)

1-cos2a

by + 1+cos2a

1+sin2«a

d) + 1—sin2«a

1+sec2a

e) +

T

1+cosda =

a) 2cos’
b) 4sin’c
c) 4cos’
d) 2sin®2¢
e) 2cosR2a

l—-cosdo =
a) 2cos’
b) 4sin’c
c) 4cos’

d) 2sin®2 ¢
e) 2cosR2a

Cosa =

1—cos2a

)
N

I+
j‘
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81.

82.

83.

&4.

by + 1+cos2a
\A 2
0 + 1+sin2«a
\A 2
d) + 1-sin2«
\A 2
&) + 1+sec2a
\j 2
1—-cos3a =
a) 2cos’ [3_05)
2
b) 2sin’ (3—0[}
2
c) 3 cos? (3_05)
2 2

d) 2sin’ 2a
e) 2cos’ 3
1+cosba =
a) 3sin’ a

b) 2sin’3a
¢) 3sin’ 3
d) 2sin’ 2«

e) 2cos’ 3

1—cos5a =

a) 2cos’ (5—0[]
2

b) 2sin’ (S—ﬂ
2

c) 2 cos?[ 3%
2 2

d) 2sin’ 2«
e) 2cos’ 3

1+cosS5a =

a) 2cos’ (5—0[}
2

b) 2sin (5—0‘J
2

c) 2 cos? (3_04
2 2

d) 2sin’ 2«
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85.

86.

87.

88.

89.

e) 2cos’ 3

1+cos3a =

a) 2cos’ (370()
. - 3
b) sin (7j

c) 3 cos? (3—0[)
2 2

d) 2sin’ 2a
e) 2cos’ 3

tan2c =
2tan’ «

l-tan
2tan o

1—-tan’ &
2tan o

1-tan’ &
2cota

1+cot’ &
2cota

l1-cot’a

tando =
4tan’ o

l-tanx
2tan 2

1+ tan’ 2«
2tan 2«
1-tan’ 2«
4tan 2
1—tan’ 2«
4tan 2
1+tan’ 2

©)
d)

cos3a =
a) 4cos’ a—3cosa
b) 3cos’ a—4cosa
¢) 3sina—4sin’ a
d) 4sina—3sin’ a
e) 3cosa

sin3a =
a) 4cos’ a—cosa
b) 3cos’ a—4cosa
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90.

91.

92.

93.

94.

95.

¢) 3sina—4sin’ o
d) 4sina —3sin’ «
e) 3cos

tan3a =
3tana —tan®
a)

1-3tan’ &

b) 3tan @ +tan’ &

1-3tan’
3tana —tan®

1+3tan’ &
3cota—cot’ a

d

) 1-3cot’ «

e) 3tanax

sin2a =
1+tan’ &

a 2
l1-tan” &
2tan o

b)

. 1+tan’ &

1—tan’ &

1—tan’
d) 2tan2a

l+tan” o
e) 2sina

cosl2x

a) 3cos’ a—4cosda

b) 4cos’ 4a—3cosda
¢) 3sinda —4sin’ 4

d) 4sinda—3sin’ 4o
e) 12cosx

sin9 o

a) 4cos’ a—3cosa
b) 3cos’ 3a—4cos3a
¢) 3sin3a —4sin’ 3a
d) 4sin3a—3sin’ 3
e) 9cosax

cosY

a) 4cos’ a—3cos3a
b) 3cos’ 3a—4cos3a
¢) 3sin3a —4sin’ 3a
d) 4sin3a—3sin’ 3
e) 9cosa

2cosxcos f=
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96.

97.

98.

99.

100.

a) cos(a+ f)+cos(ax—f)
b) cos(ax+ ) —cos(a— f)
c) sin(ax+ f)+sin(a — f)
d) sin(a + f)—sin(ax — )
e) None of these

cos2 ¢ =
1+ tan’ &

1—tan’ &
2tan o

l1—tan’ «

1—tan’

1+tan’ &
2tan

1+tan’ o
e) 2sinx

cos2a =

a) cos(a+ f)+cos(a— )
b) cos(ax+ ) —cos(a— f)
¢) sin(a+ f)+sin(a — )
d) sin(a + f)—sin(a — )

e¢) None of these

2cosa sin =

a) cos(a+ f)+cos(ax—f)
b) cos(a+ ) —cos(a— )
¢) sin(a+ f)+sin(a — f)
d) sin(a + f)—sin(a — f)

e) None of these

2sing sin 8 =

a) cos(a+ f)+cos(a— )
b) cos(ax— f)—cos(a+ f)
¢) sin(a+ f)+sin(a — )
d) sin(a + f)—sin(a — )

e) None of these

cos@—cos¢g =

0+ . 0—¢

a) —2sin——sin
2 2

b) 2sinmsinu
2 2
6+¢9 O0-¢

¢) 2sin——cos
2

0+¢ O0-¢

d) 2cos——cos
2
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101.

102.

103.

104.

e) None of these

sin@+sin¢ =

+¢

a) —2sin 9+4 sin
2

0—¢
2

b) 2 sinmsinﬂ
2 2
+¢ O-¢

2

c) 2sin o+¢ cos
2

d) ZCOSMCOSH_¢
2 2

e) None of these

sin@—sing =

4 0=¢
2

a) —2sin 9+4 sin
2
b) 2sin 9+4 sin 9-¢
2 2
+o 09
2

c) 2sin o+¢ cos
2

9 0s2=?
2

d) 2cos 9+4 cos
2

e¢) None of these

T
COS— =
12

a —\E_l
242
\ﬁﬂ

b) 2\5

\ﬁH

2
-1
G

c)
d)
e) 1l

Cos315° =

a)

Si-
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105.

106.

107.

108.

109.

C) 3
2
d) _3

Np)

e)0

Cos540° =

a)

Si-

b) -

&
o3
NA

d) -

S

e)—1

Tan (- 135°) =

a) %
1
2
C) 3
ND)
d) 1
e)0

\9}

b) —

sec(- 300°) =
a) 4
b) 3
c) 2
d 1
e) 0

cot (- 855%) =
a) 2

b) 1

c) —1

d 0

e) —2

sec(- 960°) =

a) 2
b) 1
c) —1
d 0
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110.

I11.

112.

113.

114.

115.

e) —2

sin (- 780°) =

B

a) —7

b)?

C) i
B

d)o

e)l

cos 254° =

a) —cos33°
b) Cos5°
c) Cosl6°
d) Sinl6°
e) —sinl6°

cos (-435°) =

a) cosl5®
b) —cosl5®
c) —sinl5°
d) Sinl5°
e) Sin25°

sin(a + f).cos(a — )=

a) sina—sin

b) sina +sin S

¢) sin® @ —sin®

d) sin’ @ —sin® S +1
e)0

sin(ax + f).sin(a — )=

a) sina—sin
b) sina +sin S

¢) sin’ @ —sin’
d) cos® f—cos’ a
e)0

sin(45" + o) =
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a) sin+cosa
b) sina—cosa

C)f
d)ﬁ

e) sina

(sina+cosa)

(sinax —cos )

116. tan(180°+86)=

a) cotd
b) tan@
c) sind
d) —tan@
e) —cosd

117. cos(a+ f).cos(a—p) =
a) cot2c
b) cos® @ —cos® B
c) sin2«x
d) tan2c
e) None of these

118. tan @ + tan [

tan —tan 8
cos(a+ f)
a) —————=
cos(a— )
b) cos(a— )
cos(a+ f3)
sin(a - )
c)
sin(a + f3)
d) sin(a + f)
sin(a — )

e) —tano

119. cos*@ =

a) %[3—400529+2cos40]

b) é[3+4cos29+2cos49]

¢) 4sin® @ cos @
d) —4cosn’ @ sinf
e) none of these



120.

121.

122.

123.

124.

l+sina
l-sina

a o
tanz +CoSs—

a)
a a
tan ——cos —
2
. a a
sin——CcoS —
b) 2 2

.a o
sin— +cos —
2 2

. a o
SIn — + COS —
0) 2 2

. a
SIn — —COS —

2 2

a o
tan ——cos —
d) 2 2
o a
tan —+cos —
2 2

e) 4cosda

sin 30 N cos360
cosd sind

a) sind
b) 2cot2 0
c) cosd
d) —secd
e) secd

2sin 36 cos@ =

a) cot4f +cot20
b) cos4d +cos26
c) cos4d -cos2b
d) sin48 -sin2 6
e) sindf +sin20

sinS @ +sin3 g =

a) 2cos2d sinf
b) —2cos46 sind
c) —2sind @ cosd
d) 2cos40 sinf
e) 2sind @ cosf

2sin12° sin46° =
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125.

126.

127.

128.

129.

a) cos34° cos58°
b) sin34° + sin58°
c) sin34°—sin58°
d) cos34°+ cos58°
e) co0s34°—cos58°

COSX—COS3x
sin3x —sin x

a) cot2x
b) tan2x
c) csc2x
d) sec2x
€) cos2x

cse(—a) =

a) -cosa
b) —seca
c) seca
d) csca
e) —csca

cot (a -90°) =

a) tang
b) —tano
c) —cotax
d) cotx
e) cosa

)
csel ——a |=
2

a) —csca
b) csco
c) —seca
d) seca
e) cotx

T
tan| a+— | =
( 2]

a) tang
b) —tane
c) cotx
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130.

131.

132.

133.

134.

a) tang
b) —tane
c) cotx
d) —cotax
e) seca

CoOSx =

a) 1-2sin® <
2

b) 2cos? < +1

c)2cos’ o - 1
d) 2cos’ ¢ + 1
e) 1 - 2sin’¢

1-cos2a =

a) 2sinax
b) 2cosa
c) 2seca
d) 2sin’a
e) 2cos’a

1 —cosba =

a) 3sin‘a
b) 2sin’3
¢) 3sin’3 ¢
d) 2sin®2¢
e) 2cos 3o

cos@+cos¢g =

+¢

a) —2sin

b) 2sin 9;¢sin

+¢

c) 2sin o+¢ cos
2

d) 2cos % oS

e) none of these

sin

0-¢
2

0—¢

0-¢

2

o-¢

2
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Unit 11: Trigonometric
Functions and their Graphs

1. Range of the sine function is ?

a) {x|-1<x>1}
b) {x|-1<x<1}
c) {x]|0 x>1}
d {x<1}

e) None of these

2. The domain of sinx is

a) [-1,1]
b) R

C) R-{x|x:(2n+l)%,ne2}
d) R—{x|x=n7z,neZ}
e) R—{xl-l<x<I1}

3. Range of the cosine function is = ?

a) {x|-1<x>1}
b) {x|-1<x<1}
c) {x|]0 x>1}
d) {x>1j

e) None of these

4. The domain of the cosx is

a) [-1,1]
b) R

C) R-{x|x:(2n+1)§,neZ}
d) R—{x|x=n7z,neZ}

e) R—{xl-l<x<I}

5. The domain of tanx is

a) [-1,1]
b) R
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10.

¢) R- {x|x=(2n+l)§,n ez}
d) R—{x|x:n7z,neZ}

e) R—{x|-1<x<l}

The domain of cotx is

a)[-1, 1]
R

R - {x|x:(2n+l)%,n EZ}
R—{x|x:n7z,neZ}

R—{x|-1<x<1]

The domain of secx is

a)[-1, 1]
b) R

¢) R- {x|x=(2n+l)%,n ez}
d) R—{x|x=n7z,neZ}

e) R—{x|-1<x<l}

The domain of cscx is

a)[-1, 1]
b) R

C) R-{x|x:(2n+l)§,ne2}
d) R—{x|x=n7z,neZ}

e) R—{x|-1<x<l}

The range of sinx is

a)[-1, 1]
b) R

c) R-{x|x:(2n+l)%,ne2}
d) R—{x|x=n7z,neZ}

e) R—{xl-l<x<I1}

The range of cosx is

a)[-1, 1]
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1.

12.

13.

14.

15.

b) R

C) R-{x|x:(2n+l)%,ne2}
d) R—{x|x=n7z,neZ}

e) R—{x|-l<x<I1}

The range of tanx is

a)[-1, 1]
b) R

¢)R- {x|x:(2n+l)§,neZ}
d) R—{x|x=n7z,neZ}
e) R—{x|-1<x<1}

The range of cotx is

a)[-1, 1]
b) R

OR- {x|x:(2n+1)%,neZ}
d) R—{x|x=n7z,neZ}
e) R—{x|-1<x<1f

The range of secx is

a)[-1, 1]
b) R

¢)R- {x|x=(2n+1)%,neZ}
d) R—{x|x:n7r,neZ}
e) R—{x|-1<x<1f

The range of csc x is

a)[-1, 1]
b) R

¢)R- {x|x=(2n+1)%,neZ}

d) R—{x|x:n7r,neZ}
e) R—{x|-1<x<1}

A function f(x) is said to be the periodic function if, for all x in the domain of f, here exists a
smallest positive number p such that f(x + p) =



16.

17.

18.

19.

20.

a) f(p)
b) f(x)
c) 0
d P
e) x+p

If, for all x in the domain of f, there exists a smallest positive number p such that

f(x + p) = f(x), then p is the

a) period of f

b) period of 2f
c) period of 3f
d) period of 4f

e) none of these

The period of sinx is

a)

NN W[

b)

2
C —
) 3

d) =
e)2rx

The period of cosx is

N
N W[

o
~

2
C_
3

d =
e)2rx
The period of tanx is
a) z
3
T
b) =
) 2
2r
C —
) 3

d) =
e)2rx

The period of cotx is
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21.

22.

23.

24.

)
p—

NN W[

o
~

2

C —
3
d) =

e)2rx

The period of sec x is

N
N WY

o
~

2

C —
3
d) =

e)2rx

The period of cosec x is

oS
N—’

o
N
NN W

2

C —
3
d) =

e)2rx

The period of sin2x is

a)

NN W[

b)

27
C —
) 3

d) =
e)2rx

The period of cos2x is

N
N WY

o
~

75



25.

26.

27.

28.

2
C —
) 3

d) =
e)2rx

The period of tan 2x is

o
A

o
N
NN W[

2

C —
3
d) =

e)2rx

The period of cot2x is

oS
N—’

N WY

o
~

27

C —
3
d) =

e)2rx

The period of sec2x is

o
N

o
N
DN W

2r

C —
3
d 7

e)2rx

The period of cosec 2x is
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29.

30.

31.

32.

33.

The period of sin3x is

N
NN W[

o
~

2

C R
3
d) =

e)2rx

The period of cos7x is

N
N WY

o
~

2

C R
7
d =

e)2rx

The period of cos g is

a) w
b)2x
©)3rx
d)4r
e)or

The period of tan g is

a) w
b)2rx
©)3rx
d)4r
e)or

The period of cot g is

a) w
b)2rx
©)3rx
d)4r
e)or
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34.

35.

36.

37.

38.

The period of sec g is

a)

b)2rx
c)3rx
d)4r
e)br

The period of cot3x is

S &
NN W[

2z

C —
3
d) =

e)2rx

The period of tan 3x is

s &
N WY

2

C R
3
d «

e)2rx
. X .
The period of 3tan 3 1s

a) w
b)2rx
c)3rx
d)4r
e)or

The period of 3sec g is

a) w
b)2x
©)3rx
d)4r
e)o6r
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39.

The period of 15csc g is

a) 7
b)2x
c)3rx
d)4r
e)or
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Unit 12: Limit and Continuity

1) The domain of binary relation y? = - 4x is,

A) R
B) Z
C) R"
D) Negative real numbers including zero.

2) If S = {a, b, c} then the number of distinct relations on S is

A) 9
B) 2°
C) 23
D) 9?

3) The domain of the binary relation 2x> + 2y* = 18 is
A) R
B) R*
C) Z
D) {-3,3}

4) The range of the binary relation 4x? + 9y* = 36 is

>
N7
A

-2,2}
-3, 3}
-2, 3}

SRS
=

5) IfR1={(x,y) | X,y € Rand x >y} is a binary relation then its inverse is

A) {(1,2), (2,3)}

B) {(2, 1), (3,2), (4,3)}

O) {(xy) | x=y}

D) {(x,y) | X,y € Randy >x}

6) The graph of the binary relation y = x> — 6x + 5 represents

A) Line

B) Circle
C) Parabola
D) Ellipse

7) The graph of R1 = {(x, y) | X,y € Randy>x} is

A) Line
B) Points on the line y = x
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8)

9

10)

11)

12)

13)

14)

C) All points below the line y = x
D) All points above the line y = x

If f(x)=ax +b, where a, b € R, a # 0, then fis called a

A) Constant Function
B) Linear Function

C) Quadratic Function
D) Polynomial Function

The graph of a linear function represents a
A) Circle

B) Line

C) Parabola

D) Ellipse

The equation having null set as its solution set is

A) x =cos X

B) x=¢"
C) x=sinx
D) x=tanx

The composition of two functions f and g is defined as (fog) (x) = f {g (x)}, for all x in the set

A) Re
B) Dg
C) Dg N D¢
D) R n D¢

If f(x) = x and g(x) = x* then the value of
(fog) (x) is

A) x?
B) x
C) x°
D) x*

Let f: S — T be a one — to — one function such that f(x1) = 6 and f(2) = 6 then the value of x; is
A) 6
B) 2

C) 3
D) 12

Let f(x) = 5x + 3 then fis

A) One — to — one function

B) Onto function

C) Constant function

D) Both one-to-one and onto function
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15)  Let:S — S be an identity function and 2 € S, then the value of f(2) is
A) 2
B) -2
0) 3
D) V2

16) Letg=1{(1,1),(2,3),(3,2),(4,4)} be a function from S onto S, then the value of g! (2) s,
A) 2
B) 3
C) 4
D) 1

17)  Let f(x) =5x + 1, x € R then value of f! (6) is,

A) 31
B) 1
Q) 6
D) 1/6

18)  Ifg(x) =2x + 1 then the value of g*(1) is

A) 3
B) 9
Q) 7
D) 8

20)  The graph of the function y = x and y = tan x intersect at the point

A) x=m/4
B) x=0

C) x=m/2
D) x=mn/3

21)  The solution set of the equation x = tan X is

A) ¢

B) {n/4}
C) {1}
D) {0}

22)  The solution set of 2x> — 3x* + 4x — 5 = 0 can have at the most,

A) 4 members
B) 3 members
C) 2 members
D) 5 members

23)  Iff(x)=2x>—1 and g(x) = 5x + 2 then value of f{g(2)] is

A) 312
B) 87
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C) 287

D) 288
24) The inverse function of the function y = x__l , x#—11s
X+
A =2
y—1
_ 1-
B) [l =10
I+y
_ 1+
Q) /(="
-y
_ 1-
D) f1)="—=
y—1
25) Ify= al 5 x #—2 is a function then the value of f ! (2) is, (Here y = f(x))
X+
A) s
B) 4
C) Y
D) -4
. ) ) 1 .2 .4 .5
26) If the variable x takes in succession the value 3,35, 3§, 3§, 3 g,...then X approaches
A) 4
B) 3
5
C) 3=
) 8
D) 5

27)  1f h>0, then as h approaches zero, tan(%[ + h) approaches

A) -©
B) «
)0
D) -1

28)  The values of Lim, ,, Cosec(r +h), h>0 is
A) 0
B) «
C) -
D) —1

sin ax .
1S

29) The value of Lim _,,
bx
A) a

a
B) =
) b
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30)

C) b
D) 2
a

The value of Lim
A) et
e
B _
) 4

C)ﬂ
e

D) e

X—>00

4 *
(1+-)*is
X
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Unit 13: Differentiation

1)

2)

3)

4)

S)

6)

7)

when it exists is called

Let f' be a real value function and x € Drthen %mg Slxt h]z =/ ()
A) The derivative of f at a

B) The derivative of fath

C) The derivative of f at x

D) The derivative of fatx =h

7 7
The value of the lim * —a
x—a x—a

is equal to

A) 0

B) 0/0
C) 7a’
D) 7a°

ax+b ax+b .
W

The derivative of .
cx+d cx+d

A b
(ex+d)
a
(ex+d)’
o1
D)0

The slope of the tangent to the curve y = x* + 5 at the point (1, 2) is

A) 6
B) 2
Q)5
D) 3

If a particle thrown vertically upward move according to the law, x =32t — 16 t* (x in ft, t in sec)
then the height attained by the particle when the velocity is zero is

A) 0

B) 32t
C) 16ft
D) 2ft

If a particle moves according to the law

x = 16t — 4 then acceleration at time t = 20 is
A) 6

B) 0

C) 116

D) 4

If a particle moves according to the law
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8)

9

10)

11)

12)

x = €' then velocity at time t = 0 is

A) O
B) 1
C) e
D) none of these

Ifx =2t, y = t* then 4 is equal to
dx

A) 4t

B) 2

C) t

D) 4

The derivative of sin (a + b) w.r.t x is

A) cos (a+b)
B) —cos(a+b)
C) cos(a—Db)
D) 0

The derivative of X sina w.r.t X is

A) cosa
B) xcosa+sina
C) —xcosa+tsina

D) sina
L xX+a )
The derivative of — W.r.t X 1s
sin a
A) sina—(x+a)cosa
(sin a)2
sin a —cosa
B) ————
sin“ a
sina—x—a
C) ————
sin” a
1
D) —
sin @
. sin a .
The derivative of w.r.t XIS
cosa

A) sec? (ax +b)
B) o84

sin a

—COoSsa

0)

sin a
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D) 0
13)  The derivative of tan (ax +b) w.r.t tan (ax + b) is

A) sec? (ax +b)
B) asec’ (ax +b)
C) bsec? (ax +b)
D) 1

14)  Ifx=2cos’0, y = 4sin’0 then dy/dx is equal to

A) 4tan’0
B) —4tan’0
C) 4tan°0
D) —2tan®0

15)  The derivative of (sec "' x + cosec ~'x) is equal to

1
A -
) xvx? =1

1
B
) 1+ a?
0o

1 1
D —
) \/xz—l \/x2+1

16)  The derivative of Sin"'a + Tan ! a w.r.t x is equal to

1
A) V1-a?
1
B
) 1+ a?
1 1
C +
) J1—g? 1+d°
D)0

17)  The value of e as sum of the series is

18)  The base of the natural logarithmic function is
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A) 10
B) 2
C)e
D) none of these

19)  The natural exponential function is defined by the equation

A)y=a
B) y=2*
C)y=¢
D) y=3*

20)  The derivative of sin (sin a) w.r.t X is

A) cos (sina)

B) cos (sina) cosa
C) cos (cosa)

D) 0

21)  Ifa¥ =x then the value of y is

A) ax
B) log.x
C) x/a
D) a/x

22) If Y —Tan 2 then & is
X y dx

A) xy
B) — |

X+
1

1+y2

0)

D) £
X

23)  The derivative of exp (sinx) is

A) exp (cosx)

B) sinx exp(cosx)
C) (cosx) exp (sinx)
D) cosx exp (cosx)

24)  The derivative of e w.r.to x is

A) 2e
B) 2
O 1
D) 0

25)  The derivative of X* is
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A) Xx—l

B) X.X*!
C) X*(1+lnx)
D) X*Inx

26)  If dx or dx is quite small then the difference between dy and oy will be

A) very large
B) large
C) small
D) negligible

27)  Ifradius of a circular disc is unity then its area will be

A) my?
B) 2my
Omn
D) 2n

28)  the derivative of the function f(x) = sinx + sinx + .... up to 9 times, is

A) cosx + cosx + cosx
B) 9 cosx
C) 9sinx
D) 3 cosx

29)  Ifx =cos®0, y = 4sin’0 then j—y is
X

A) -2
B) 2
C) -4
D) 4

1
30)  The derivative of the function f(x)=

cosecx

18

A) Sec? 45° Cosx

B) Sec?45° Sinx

C) — Cosec? 45° Cotx
D) Cosx

31)  The derivative of the function y = tanx 1is
A) tanx sec? 45° + sec? x tan 45°
B) sec’x sec?45°
C) Sec?45°
D) Sec’x
32) A particle thrown vertically upward, moves according to the law, x = 32 — 16t* (x in ft, t in sec)

then the maximum height attained by the particle is
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A) 32ft
B) 16ft
C) 48ft
D) 2ft

33) Ifin a function y = x> — 2x, X = 4, increment in x = 0.5 then the value of differential of the
dependent variable is

A) 45
B) 3.5
0) 3

D) 2.5

34)  Ify=e’ thenyo is

A) er
B) 2°
C) 29 er
D) 28 e2x

35)  In the interval (- o, o) the function defined by the equation y = x> is
A) increasing
B) decreasing
C) constant
D) even

36)  The origin for the function y = x* is a point of

A) Maxima
B) Minima
C) Inflexion
D) Absolute Maxima

37)  Iff (c) exists then f ( ¢) is a maximum or minimum value of f, only if

A) f(¢)>0
B) f(c)<0
C) f(c)=0
D) f(c)=1

39) Iff(c) <0 foreveryc € (a, b) then fis

A) increasing
B) decreasing
C) constant
D) zero

40) A function f will have a minimum value at
x=a,if f(a)=0and ' (a)is

A) +ve
B) —ve
90



C 0
D) o

41)  The function f(x) = x? increases in the interval

A) [1, 5]

B) [- 1, 5]
O) [-5,1]
D) [-5,-1]

42)  The function f(x) = 1 — x? increases in the interval

A) (-51)
B) (-5,2)
C) (-5,3)
D) (-5,-1)

43)  The function f(x) = 1 — x> decreases in the interval

A) (-1, 1)
B) (-2,2)
C) (-3,3)
D) All A, B and C are true

44)  In the interval (-2, 3) the function f(x) = x* is

A) increasing
B) decreasing
C) neither increasing nor decreasing
D) maximum

45)  The function f(x) = 2 is decreasing in the interval
X

A) (0,2)
B) (0, 3)
C) (0,4)
D) All A, B, C are true

46)  The function f(x) = x* — 1 is increasing in the interval

A) (-5,-1)
B) (-5, 1)
C) (-5,95)
D) All A, B, C are true

47)  The function f(x) = 1 — x> has a point of inflexion at
A) origin
B) x=2

C) x=-1
D) x=1
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48)

49)

50)

51)

52)

53)

54)

The function f(x) = x> — 3x + 2 has a minima at

A) x=1
B) x=3/2
C) x=3
D) x=2

3 2
The function f(x)= % - 3% + 2x has minima at

A) x=0
B) x=1
C) x=-1
D) x=2

In the interval (0,%) the function

f(x) = cosx is

A) increasing

B) decreasing

C) neither increasing nor decreasing
D) constant

The function f(x) = 3x> — 4x + 5 has a minima at

A) x=2/3

B) x=2

C) x=3

D) x=-2

The function f(x) = 5x> — 6x + 2 has a minima at
A) x=3

B) x=5

C) x=3/5

D) x=-3/5

In the interval (0, 7) the function sinx has a maxima at the point

A) x=0
B) x=mn/2
C) x=nmn
D) x=mn/4

In the interval (0, 7) the function f(x) = sin x has a minimum value at the point

A) x=0
B) x=mn/2
C) x=nm/4
D) x=mn
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55)

56)

57)

58)

59)

In the interval [—

NN
NN

] the function f(x) = cos x has a maxima at

b

A) x=m/2
B) x=-m/2
C) x=0

D) x=mn/4

The function f(x) = sin x decreases in the interval
A) 0,5]
B) | 7, 3—”}
) 3z , 27[)

D) 0,5]

pis
A)|0,—
(0]
7
B o
(5]
0) 5,2—”]
23
D) 3—”,27{]
2

V4
A) O’Ej
B) %,7[}
RY/4
C) 7[,7}

D) All A, B, C is true

The function f(x) = cot x decreases in the interval
T
A)|0,—
) ( 2]

93



60)

61)

62)

63)

NN

e
o =2)

D) All A, B, C are true

The function f(x) = sec x increases in the interval

T
A A
(5]
B) 7[,3—7[j
2
0) 3—”,27[)
2
D) ﬂ,S—ﬂj
4

Vs
A)|0,—
(0]
B) %,7[}
0] 7[,3—”]
2
Vs
D)|0,—
)(0.5]
The function cosec x increases in the interval
Vs
A)|0,—
(0]
B) 7r,3—ﬂ)
2
0] 3%,27[)
Vs
D)|0,—
)(05]

The function cosec x decreases in the interval

A) (%ﬂj
RY/4
® (”’ﬂ
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64)  Two positive real numbers, whose sum is 40 and whose product is a maximum are

A) 30, 10
B) 25,15
C) 20,20
D) 19,21
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Unit 14: Vectors In Space

1)

2)

3)

4)

S)

6)

7)

The triangle law for vector addition is equivalent to the

A) Commutative law
B) Associative law
C) Parallelogram law
D) First law

The position vector of a point P(x, y, z) is denoted by

A) PO

B) OP

C) P

D) AP

If Cosa, Cosp, Cosy are the directions Cosines of a vector then

A) Cosa+ Cosp + Cos =1
B) Cos?a + Cos?B + Cos? 3 =0
C) Cos’a + Cos?B + Cos® y = 1
D) Cosa + Cosf +Cos x =0

The numbers proportional to the direction cosines of a vector are called

A) Vector numbers
B) Scalar numbers
C) Direction numbers
D) Rational numbers

Two or more vectors are said to be collinear if they are

A) perpendicular to the same line
B) parallel to the same line

C) intersecting the same line

D) not parallel to the same line

Two or more vectors are said to be coplanar if they

A) are perpendicular to the same plane
B) are not parallel to the same plane
C) lie in the same plane

D) do not lie in the same plane

The component of a=3i+4 J in the
direction of z-axis is

A) 3
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8)

9

10)

11)

12)

13)

D) -~

The vectors 5=i+2j+3k and l_7=2i+4j+6k are

A) Perpendicular
B) Parallel

C) Not parallel
D) None of these

The join of the mid points of the consecutive sides of any quadrilateral is

A) asquare

B) arectangle

C) aparallelogram
D) none of these

If A (1,2, 3) and B (3, 4, 5) are two points then the mid pint of 4B is

A) 4,3,95)
B) 4,6, 38)
C) 4,5,6)
D) (2,3,4)

The direction Cosines of i are
A) 0,0, 1
B) 0,1,0
C) 1,0,0
D) 1,1,0

b b

The direction cosines of the vector a =i+ j are

A 1,1,0

B) L L

2’2
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11

) I, —, —

)17 (2’ (2
11

D) —, ——

)ﬁ’ﬁ’o

14)  The Norm of the vector a=i —} is

A) 0
B) 2
C) V2

D) 1
15) Ifa=3i+j—k and b=2i—4j+4k are parallel then the value of A is
A) 4
B) 8
C) 12
D) - 12

Products of Vectors

1) If ¢ is a unit vector then the value of a.b is
A) 1
B) ‘c_z‘ cost
O) ‘I_)‘ cosd
D) 0

2) The projection of @ in the direction of b is

A) ‘l_o‘ cosd

B) ab Cos6
C) ab

D) ‘c_z‘ cost

3) Ifa=i+ j and b=i+k are two vectors then inner product of a and b are

A) 1
B) -1
C) 0
D) 2

4) The inner product of i and ; is

A) 1
B) -1
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5)

6)

7)

8)

9

10)

C) 0
D) 2

If I,l, + mm, +n,n, =0 then the angle between the two vectors is

A) 45°
B) 60°
C) 90°
D) 180°

If the right bisectors of the two sides of a triangle pass through the origin then the right bisector
of the third side will pass through the point

A) (1, 1)
B) (1,2)
O (1,3)
D) (0, 0)

The equation 2x + 3y + 6z = 35 represents

A) aline

B) acircle
C) aplane
D) a parabola

If a is the position vector of a given point (1, 2, 3) and ;_( is the position vector of any point

(X, Y, z) such that ‘;_( —a ‘ =2 then the locus of ;_( describes

A) acircle
B) an ellipse
C) aplane
D) a sphere

the equation
(x = 1)>+ (y = 3)*> + (z— 5)* = 25 represents

A) acircle
B) asphere
C) aplane
D) an ellipse

The coordinates of the center of the sphere x>+ y*> +z> =9 is
A) (0,0)
B) (3,3,0)

C) (0,0,0)
D) (0,0, 3)
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11) If a is the position vector of a given point (1, 1, 1) and ;_( is the position vector of any point

(X, y, z) such that ‘;_(—Zz‘;z =0 then the locus of ;_( describes.

A) a sphere
B) acircle
C) an ellipse
D) aplane

12)  The distance from the origin to the plane

A) 7
B) 0
Q) 1
D) 2

13)  The contact in which the point coordinates are all positive is called

A) 1% octant
B) 2" octant
C) 4" octant
D) 8 octant

14)  The point (3, 5, 8) lies in the

A) 3" octant
B) 5% octant
C) 8" octant
D) 1% octant

15)  The three coordinate’s planes divide all space into

A) 3 cells
B) 4 cells
C) 8cells
D) 6 cells

16 If a=i+2j+k, b=3i+j—k and
c=1i+2j+k are the co-terminus edges of a parallelepiped then its volume is
A) 0
B) 8
C) 27
D) 1

17) Ifa=i+2j+3k, b=2i+4j+6k and
E=3i—j+k then the value of a .b xc is
A) 28

B) 26
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C) 0
D) 24

18)  If volume of a parallelepiped with a ,b ,c as co-terminus edges is 24 the volume of the
tetrahedron with the same edges is

A) 48
B) 12
Q) 6
D) 4
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